
Multiply by 10⁻³ (G)Find each product.
7,162 × 10⁻³ = 3,9349 × 10⁻³ =
1,559 × 10⁻³ = 7,13 × 10⁻³ =
1,046 × 10⁻³ = 6,2 × 10⁻³ =
7,1943 × 10⁻³ = 0,9 × 10⁻³ =
6,73 × 10⁻³ = 9,4 × 10⁻³ =
4,71 × 10⁻³ = 2,117 × 10⁻³ =
1,23 × 10⁻³ = 9,75 × 10⁻³ =
7,33 × 10⁻³ = 1,317 × 10⁻³ =
7,7 × 10⁻³ = 2,35 × 10⁻³ =
4,6428 × 10⁻³ = 6,73 × 10⁻³ =
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Multiply by 10⁻³ (G) AnswersFind each product.
7,162 × 10⁻³ = 0,007162 3,9349 × 10⁻³ = 0,0039349
1,559 × 10⁻³ = 0,001559 7,13 × 10⁻³ = 0,00713
1,046 × 10⁻³ = 0,001046 6,2 × 10⁻³ = 0,0062
7,1943 × 10⁻³ = 0,0071943 0,9 × 10⁻³ = 0,0009
6,73 × 10⁻³ = 0,00673 9,4 × 10⁻³ = 0,0094
4,71 × 10⁻³ = 0,00471 2,117 × 10⁻³ = 0,002117
1,23 × 10⁻³ = 0,00123 9,75 × 10⁻³ = 0,00975
7,33 × 10⁻³ = 0,00733 1,317 × 10⁻³ = 0,001317
7,7 × 10⁻³ = 0,0077 2,35 × 10⁻³ = 0,00235
4,6428 × 10⁻³ = 0,0046428 6,73 × 10⁻³ = 0,00673
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